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5

A
B
C
D

6

I
II

A  I
B  II
C I  II
D I  II 

#1 (1500) 845 670 500
#2 (2600) 105 200 3500

t0 t 1 t 2 t3



Edinburgh Business School A4/5

4 / 

7

A
B
C

D

8

I

II

III

A  I
B  II
C  I  II
D I II  III

9

I
II

A  I
B  II
C I  II
D I  II 

10

I

II

A  I
B  II
C I  II
D I  II 



4 / 

A4/6 Edinburgh Business School

11

I
II
III

A  I
B  II
C I  II
D I II  III

12

A
B
C
D

13

 25  32 
 130 000  11 000 

 216 000  2000 

 10%  2  32 
 A1/3 

A
B  25 000 

 25 000 
C  230 000 

 230 000 
D  25 000 

 25 000 

14

I
II
III

A  I



Edinburgh Business School A4/7

4 / 

B  II
C  III
D I II  III 

15

I
II

III

A  II
B  II  III
C  III
D I II  III

16  A  14%  5%  B  10%
 3%

A  4%  12%
B  4%  12%
C  4%  12%
D  A B  C 

17
 1.16  9%

 8%
A  17.0%
B  17.4%
C  18.0%
D  18.3%

18

A
B
C
D

19

A
B



4 / 

A4/8 Edinburgh Business School

C
D

20

I

II
III

A  I
B  I  III
C  II  III
D I II  III

21

I
II

III

A  I
B  III
C  I  II
D  II  III

22

A
B

C
D

23  Intelligent Micro Designs  (IMD) 
IMD 

IMD 
 IMD 



Edinburgh Business School A4/9

4 / 

A IMD 

B IMD 

C IMD 

D IMD 

24

A
B

C

D

25

I
II
III

A  I
B  II
C  I  III
D  II  III

26  9.4%  11%
 1.5 /

/
A 1.351
B 1.50
C 1.478
D 1.665

27  South Aerok 

I
II

A  I
B  II



4 / 

A4/10 Edinburgh Business School

C I  II
D I  II 

28  4.50  4.65 

A  0.15 

B

C
D −  (Black-Scholes) 

29

A
B
C

D

30

I
II

A  I
B  II
C I  II
D I  II 

C

 1

•  9%
 1017.07 

•  10%
 91.74 

•  7%



Edinburgh Business School A4/11

4 / 

•  11%  1164.24 

 0.01 
0.01%

1  8% 
4

2  10% 
6

3

5

4

4

5  11% 
 110 

3

6 5

7

7

5

8  (YTM)

11

 = 45 

 2

UK Aero 
 18  UK Aero  17 

UK Aero 
13.60  0.35  22.10  0.65

 10% 12

1

 1  2  3  4 
973.38 110 110 110



4 / 

A4/12 Edinburgh Business School

18  17 
16

2

18

3

11

 = 45 

A

1  1.00  1.00 

2

3

4

5

6
 FCF *

7

8



Edinburgh Business School A4/13

4 / 

9

10
 1.0 

11  1.0

12

13

14

15

16

17

18

19

20  1.00  1.00 
 1.00 

B

1  D



4 / 

A4/14 Edinburgh Business School
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1.12( )
3-----------------

105
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Z =  =  = −5.96364 

= 0.48235 × (17 ) − 5.96364  = 2.24 
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 6.58  UK 

Aero  13.60 
 6.58 

3 Y
Z

Y Z

Y =  =  = 0.48235

Z =  =  = −5.96364 
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B 10.41%
C 11.51%
D 20.51%
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A
B
C
D

4 Rite Bite  350 000  50 000 
Rite Bite  100 

 5%  15%

Rite Bite 
A 0.50 
B 3.15 
C 3.50 
D 4.00 

5  7%  12%

A 4.67%
B 9.56%
C 17.23%
D 25.44%

6

I  10 000 
II  20 000 

A 10.9%
B 18.9%
C 11.9%
D 16.9%

7 Burp Gas  1000 
 90%  12% Burp Gas  100 

20 Burp Gas  20%  34%
 (WACC) 

A 12.25%
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B 13.25%
C 16.25%
D 17.25%

8 Missile, Inc  2000 
 800 Missile 

10%  20%  2
 2  34% 

A 0.1000 60 000 000 
B 0.1107 −52 267 389 
C 0.1107 52 267 389 
D 0.1507 32 267 389 
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I
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A  I  III
B  II
C  II  III
D

10

A
B
C
D

11
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B Y
C X  Y
D X  Y 

X −4000 2500 3000
Y −2000 1200 1500

C0 C1 C2
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12 Nitrex Nitrex  15%

500 000 

A V

B W Y Z
C W X Y
D X Y Z

13 Ideal China  T. Potts  400 000 
 50 000 Potts 

 34%  5%

A 14 190 
B 14 850 
C 16 190 
D 16 850 

14

A 14 718 
B 15 850 
C 16 190 
D 16 850 

15  0.6  0.2
 5%

 8%
 15%

A 0.0331
B 0.0533
C 0.0880
D 0.1000

 15% 
V 500 000 125 000 23%
W 250 000 75 000 17%
X 150 000 25 000 35%
Y 100 000 50 000 25%
Z 150 000 50 000 25%
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A
B
C
D

17 Bald 
Bald  25%  75% 

 1.5  0.8

A 0.714
B 1.325
C 1.565
D 2.333

18  2.0  10%  10%

A 10%
B 20%
C 30%
D 40%

19  Gamma 

 8.5%  6.6%  Gamma 

A 7.5%
B 15.1%
C 16.0%
D 16.4%

20

I
II
A  I
B  II
C I  II
D I  II 

0.62662
0.052851

Gamma 0.0607172

β
β
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21

I  10% 
 8% 

II

A  I
B  II
C I  II
D I  II 

22

A
B
C
D
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I
II

A  I
B  II
C I  II
D I  II 

24 XYZ  12  ABC  50 
 100  100%

A XYZ  ABC 
B XYZ 
C ABC 
D

25 Thrift 
 15 000 

 0.25  6.0%
 4500 

A 30
B 34
C 40
D 44
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26 Allen  600 000  90 
 70%  Allen 

A 42 000 
B 540 000 
C 1 260 000 
D 5 400 000 

27 1.50 /  13%
 8%

A 1.43 /
B 1.57 /
C 1.62 /
D 1.69 /

28 Storm Equipment  1 
 4 

 3 0.50 /
 13%  6%

 15%
 210 

A 140 516 
B 160 582 
C 174 187 
D 200 000 

29  10.24%  13.36%
 4%

A 6%  6%
B 6%  9%
C 9%  9%
D 9%  6%

30  2.45  2.40 
A
B
C
D
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B

 1

Heritage Leisure 

Heritage 
Heritage 

Heritage 
Heritage 

 25%
5% Heritage 

Heritage  2500 
 1000 

 11% 500  8%
1000  1000  550 

 Taylor 
 3%  Heritage  2.00 

19XX 

 Heritage 

20.0
11.0
3.0

EBIT 6.0
1.5
4.5

 331/3% 1.5
3.0

 15 1.5
1.5

19XX-3 19XX-2 19XX-1 19XX
20.7 24.8 24.2 30.0
10.0 12.0 13.0 15.0



Edinburgh Business School A4/31

4 / 

Heritage  Manderley  200  100 
Manderley 

Taylor 
 1%

Heritage  Manderley 
 300 

A  177  170 

B  11%  300 
C  8%  300  Heritage 

 Heritage  Manderley 
 Heritage 

 1  2  Heritage 

1  M&M

5

2 1

5

3 Heritage 
5

4 Heritage 
5

5 Heritage 
5

6

5

2.0
1.1
0.3

EBIT 0.6
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7 Taylor 
5

8

5

9

5

 = 45 

 2

1  100 

10

1  B 1  B 

 7% 9%  8.5%

2  100 

10

3

10

4

5

5

10

A 1 99.0566 5.0%
B 2 104.6741 10.5%
C 3 104.5604 10.0%

1%
2%
2.5%
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A

1  A  1992 

2000  5238 
1 A1.1  15% 

2  B

1 A1.4 

 =  

 = 2

1 A1.3

10.41%  2  10%  11% 

3  D

4  B  D1/(r − g)
 D 1 r g

350 000 × 1.05

1 i+( )
7

1–
i

---------------------------

1
i
---

1 i+( )7 1–
i

--------------------------- 1
i
---

1 i+( ) 7
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50 000 × 1.05  315 000 

 = 3.15 

5  C

 = 

= /

= (1.12)2/1.07
= 1.1723

 17.23%

6  B
18.9%  10 000 /1.189 = 20 000 /(1.189)5

7  C Burp Gas Company  2900  900 
 2000  (WACC) 

WACC = {(1 − 0.34) × [0.12 × (9/29)]} + {0.2 × (20/29)}
= 0.1625

8  C

WACC = {(1 − 0.34) × [0.1 × (2/3)]} + {0.2 × (1/3)}
= 0.1107

 2000  800 

(8 000 000 /0.1107) − 20 000 000  = 52 267 289 

9  C

10  A
 A 

 B 
 C

0.315 
0.15 0.05–( )
-------------------------------

1 i2+( )
2

1 f0 1+( ) 1 f1 2+( )

f1 2( ) 1 i2+( )2 1 f0 1+( )
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11  C

12  B  500 000  W Y  Z 

13  C
 50 000 × 0.34

 = 16 190 

14  A  5 
 10 000  34%

 +  +  

+  +  = 14 718 

15  A  8.8%

 = 0.0331

16  C 7.3
+1

 1

17  B

(0.25 × 0.8) + (0.75 × 1.5) = 1.325

18  C

 = 10% + [2 × (20% − 10%)] = 30%

19  D  Gamma 
 Gamma 

=

= 0.0607172/0.052851
= 1.1488373

50 000 0.34×
1.05

----------------------------------------------

10 000 0.34×
1.05

---------------------------------------------- 10 000 0.34×

1.05
2---------------------------------------------- 10 000 0.34×

1.05
3----------------------------------------------

10 000 0.34×
1.054

---------------------------------------------- 10 000 0.34×
1.055

----------------------------------------------

0.2 0.05 0.088–( )2×[ ] 0.6 0.08 0.088–( )2×[ ] 0.2 0.15 0.088–( )2×[ ]+ +

β Gamma                                                    
----------------------------------------------------------------------------

Gamma 
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= 6.6 + (1.1488373 × 8.5)

= 16.365

20  D  I 
 II 

21  D  I 
 II 

22  C

23  D  I 
 II 

24  D

25  B N
4500 × N × 365 

4500 × N × 365 ×  = 540N

 15 000 + (0.25 × 365 × N) = 15 000 + 91.25N

540N = 15 000 + 91.25N

N =  = 33.43

=  34 

26  C

600 000 × 0.70 = 420 000 

 3 

420 000 × 3 = 1 260 000 

27  B 1.50 × (1.13/1.08)

E(R) Gamma

0.06 2×( )
365

------------------------

15 000
540 91.25–( )
---------------------------------
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28  C

29  B

(1 + ) = 

30  B

B

 1 

1  M&M −

2
D

TD T

3 Heritage  45% 

Heritage 

 Manderley 

 0  1  2  3 
1000 400 300 510

1.13 1.132 1.133

1.06 1.062 1.063

0.5 / 0.53 / 0.57 / 0.61 /
500 213 171 309
1 1.15 1.152 1.153

PV −500 185 129 203

16.50 16.50 16.50
11.495 11.495 11.495
3.300 3.300 3.300
1.705 1.705 1.705
1.500 1.830 1.740
0.205 (0.125) (0.035)

 15 1.755 1.500 1.500

1 +( )
1 +( )
--------------------------------------
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4  Heritage 
Heritage 

5 Taylor  55% 
Manderley 

 47%
 Taylor Taylor 

6 3
 Manderley  Heritage 

7  Taylor 

8 •

•

•  Heritage 

9  Taylor 

 Heritage  Manderley 
 Taylor 

 Taylor 

 2 

1  A  105  100 
 A 

99.0566 ×  = 94.340 

− 1 = 6.00%

 B 10.5 1
110.5 2

100
105
---------

100
94.340
----------------
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 = 9.9057 

 110.5 

104.6741 − 9.9057  = 94.7684 

 100 

100 ×  = 85.763 

100 ×  = 7.98%

 C
 10   = 9.4340
 10   = 8.5766

 18.0106 
 110 

104.5604 − 18.0106  = 86.550 

 100 100 ×  = 78.68

2  =  = 93.458 
 =  = 84.168 
 =  = 78.291 

3  =  − 1 = 11.037%
 =  − 1 = 7.507%

4  = 78.291 × 1.07 = 83.771 

5  =  − 1 = 5.9406%
 =  − 1 = 8.8598%
 =  − 1 = 4.8849%

10.5 
1.06

------------------------

94.7684 
110.5 
---------------------------------

100
85.763
----------------ç ÷

å õ 1–

10
1.06
----------

10
1.0798( ) 2
-----------------------

86.550
110
----------------

100
1.07

----------------------

100
1.09( )2

----------------------

100
1.085( )3
----------------------

1.09( )2

1.07
-----------------

1.085( )3

1.09( )2
--------------------

1.07
1.01
----------

1.11037
1.02
-------------------

1.07507
1.025
-------------------


